
FLOOR STANDING WORKBENCH
USER MANUAL

We continue to be committed to provide you tools with competitive price.
"Save Half", "Half Price" or any other similar expressions used by us only represents an

estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are
actually saving half in comparison with the top major brands.



- 2 -

Photo for reference



- 3 -

INSTRUCTIONS

Thank you very much for choosing this
- Please read all of the instructions before using it. The information will help
you achieve the best possible results.
The products carried in this catalog may be different in color than the actual
item.

SAFE INSTRUCTIONS

：Please read this user manual carefully！

Assembly Precautions
1. Carefully check the box for any damages. lf damaged, please take a
photo for your record and contact our service team for help.
2. It is dangerous if not installed correctly.Fasten all screws, nuts before
using it.
3.Please assemble according to these instructions. Improper assembly can
create hazards.
4. Wear ANSI-approved safety goggles and heavy-duty work gloves during
assembly.
5.Keep assembly area clean and well lit.
6.Keep bystanders out of the area during assembly.
7.Do not assemble when tired or when under the influence of alcohol,
drugs or medication.
8.Weight capacity and other product capabilities apply to properly and
completely assembled products only.
9.Assemble on a flat, level, hard and smooth surface capable of safely
supporting a fully loaded workbench.
10. Please do not discard the box until after you have finished assembling
the workbench.



- 4 -

11. When using the workbench, ensure all casters are locked to avoid any
mishaps. Unlocked casters can be very dangerous.
Use Precautions
The manual contains very important safety information, please read it
carefully before assembling it and keep it safe for future reference.
1. Do not attach or mount this product to a vehicle.This may cause

personal injury or product damage.
2. Do not stand or step on this product.You may fall which may cause

personal injury.
3. Keep the product on level surfaces.The product may become unstable

and tip if stored or moved on an unlevel surface,which may cause
personal injury or product damage.

4. Lock the drawers before moving this product.The drawers could come
open and make the product unstable and tip,which may cause
personal or product damage.

5. Keep children and bystanders away while loading,unloading and
moving the product.

6. Do not lift the product directly with a forklift or tow with any mechanical
devices.

7. Do not exceed the maximum load capacity,including contents.Do not
exceed the maximum load capacity of each drawer.Do not exceed the
maximum load capacity of each tray.

8. Do not alter this product in any manner.
9. The box contains some small components; please place them properly

before installation to keep them away from kids and ensure safety.
10. Before installing the socket, the desktop should be cleaned to ensure

that there are no stains on the desktop. In particular, attention should
be paid to not bringing water into the socket so as to avoid safety
problems during subsequent use.

CAUTION: Carefully read instructions and procedures for safe operations.
SAVE THESE INSTRUCTIONS



- 5 -

MODEL AND PARAMETERS

Model

PLUG TYPE US EU,AU

Power Strip 120V~，60HZ 220V~240V ，50/60HZ

Desktop Size 60"x24"

Table Height 28"～39.5"

Maximum Load 1500lbs

Wheels Included(4pcs)



- 6 -

Part list:

S/N Description QTY
P1 Wood Board 1
P2 Left Leg 1
P3 Right Leg 1
P4 Support 2
P5 Leg Extend 4
P6 Caster 4
P7 M8 Nut 8
P8 M8x50 Plastic Screw 8
P9 M8x12 Screw 8
P10 M5x12 Screw 22
P11 Power Strip 1
P12 M4x12 Screw 2



- 7 -

S/N Description QTY
A1 Drawer Left Panel 1
A2 Drawer Right Panel 1
B Drawer Front Panel 1
C Drawer Bottom Panel 1
D Drawer Partition 2
E Drawer Behind Panel 1
F M4x6 Screw 32
G M4 Nut 32
H M6x12 Screw 8
I Handle 2
J M4x5 Screw 4
K PVC mats 1



- 8 -

ASSEMBLY AND USE

Tips:
1)Do not fasten all screws and nuts tightly, you may need to rework if you
make a mistake.2)We recommend 2 adults are required to complete the
installation.3)In order to prevent the leg extention from dropping into the
leg,we have installed 1 pc M8*25 screw into the aligned hole between leg
and led extension for each leg.

1.Fasten legs to the wood board.
A)Place the wood board on a clean surface(floor).To protect the wood
board, we recommend you use a soft cloth or box on the floor.
B)Please make sure the mounting holes are aligned with the holes in the
board, and that the legs are symmetrical
C)Use 8pcs M5x12 screws to fasten 2 legs to wood board.



- 9 -

2.Fasten support to wood board and legs
A)Fasten support to leg, use 8pcs M8x12 screws .
B)Fasten support to wood board, use 12pcs M5x12 screws

3.Fasten leg extensions to legs and adjust to same height.Use 8pcs M8x50
plastic screws and 8pcs M8 nuts to fasten them.(If you can’t pull out the leg
extension ,please use caster to screw into the bottom of leg and then you
can pull out the leg extension)



- 10 -

4.Install casters on leg extend

5. Tighten all bolts and nuts, reverse the workbench.
As the below picture, using M4X12 screw to fix P11 to P3.



- 11 -

6 . Assemble the drawer

① As the below picture, using M4X6 screw and M4 nut to fix A1,A2 to C

② As the below picture, using M4X6 screw and M4 nut to fix B to C

③ As the below picture, using M4X6 screw and M4 nut to fix E to C

④ As the below picture, using M4X5 screw to fix I,J to B

⑤ As the below picture, K to lay above C

⑥ As the below picture, using M6X12 screw to fix D to C



- 12 -

7. Tighten all screws and nuts, install the drawer to workbench, then
Finish.For workbench with drawer, the side board and rail were
pre-installed at the production factory

Insert the inner rail on
the drawer to the outer
rail,then parallel push it.



- 13 -

WARNING:
For workbench with drawer, please make sure the drawer is correctly
installed, do not place heavy tools or items inside, it may destroy the
drawer.

Photo for reference
Maintenance

1. Please try to avoid putting wet items on desktop.
2. Dust off regularly with a clean rag, and arrange items neatly on desktop.
3. Don't let it sit in the sun for too long.
4. Check the table regularly to prevent screws from loosening and falling
off.




